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Example:-

Estimate the amount of earthwork required to create a raft foundation under the building
shown below, given that the sides of the excavation are 1.5 m on all sides and the depth
of the excavation is 0.8 m.
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Earthwork excavation for strip foundations Aday ) Qe Al A1) iy i)
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Example : Estimate the volume of earth excavation required to implement the strip
foundation for the two rooms shown below, given that the wall thickness is 0.20 m, the
foundation width is 0.6 m, and the excavation depth is 0.80 m.
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H.W : Estimate the volume of earth excavation required to implement the strip
foundation for the two rooms shown below, given that the wall thickness is 0.24 m, the
foundation width is 0.8 m, and the excavation depth is 0.90 m.
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